İNGİLİZCE GENEL DENEME SINAVI 10.


1. -22. sorularda, cümlede boş bırakılan yerlere uygun düşen sözcük ya da ifadeyi bulunuz. 


1) 
All teenagers have …………. ; the problem is to 

teach them to exploit it to the best advantage. 
A) destiny 
B) compulsion 
C) potential 
D) preference 
E) significance 


2)
Have they come to a …………. yet on whether to 

move  to İzmir or stay in Antalya? 

A) disturbance 
B) suggestion 
C) reversal 
D) conflict 
E) decision 


3)
Ireland is in the Atlantic Ocean and ………….  

from  Great Britain by the Irish Sea. 

A) established 
B) occupied 
C) placed 
D) inhabited 
E) separated 


4)
Geologists have ………….  that Africa was once 

warmer  and wetter than it is today. 

A) explored 
B) discovered 
C) surveyed 
D) searched 
E) experimented 


5) 
Australia, which is normally a grains exporting 
country, has started importing wheat and corn to meet a shortage resulting from a ………….  drought. 

A) widespread 
B) hostile 
C) sustainable 
D) secular 
E) restrictive 


6) 
After decades of speculation astronomers now 

have fairly …………. information concerning the 

basic  features of our universe. 

A) desperate 
B) preventive 
C) reluctant 
D) accurate 
E) respective 

7) 
The meridians are ………….  counted from the 

meridian  of the observatory of Greenwich, in 

England, which is  called the zero meridian. 

A) traditionally 
B) suitably 
C) previously 
D) notably 
E) markedly 

8) 
Finland, which is three times the size of Ohio, is 

…………. forested and contains thousands of 

lakes,  numerous rivers and extensive areas of 

marshland. 

A) mutually 
B) exactly 
C) heavily 
D) currently 
E) profoundly 

9) 
He must have had some sound reasons for 


…………. such a rigid timetable. 

A) setting out 
B) drawing up 
C) running up 
D) turning off 
E) looking into 


10) 
It's a delightful novel, and the reader soon gets 

………….  in the lives of the characters as the story  progresses. 

A) caught up 
B) found out 
C) put out 
D) turned over 
E) fed up 

11) 
Experts …………. that in 2010s, robots ……….  for many of the elderly people in the world. 

A) will have believed / are caring 
B) have believed / would be caring 
C) believed / had cared 
D) will believe / will have been caring 
E) believe / will be caring 

12) 
Orphan elephants need ………….  the same 
companionship as they………….  from their mothers in the wild. 

A) to have given / had received 
B) to be given / would have received 
C) having given / will be receiving 
D) to have been given / would receive 
E) being given / are receiving 
13) 
He …………. alive now if only he …………. to go back into the burning house for something. 

A) will be / wouldn't have decided 
B) is / hasn't decided 
C) could be / wouldn't decide 
D) would be / hadn't decided 
E) should be / hasn't decided 

14) 
The first people ………….  non-stop round the world  …………. captain James Gallagher and his crew. 

A) to have flown / have been 
B) being flown / are 
C) to fly / were 
D) to be flying / had been 
E) having been flown / will be 

15) 
The arctic is one of the few areas ………….  

earth still left unconquered …………. solo 

explorers, primarily because of the extremely 

harsh conditions. 
A) of / for 
B) over / from 
C) in / with 
D) on / by 
E) for / to 


16) 
The main difference ………….  the comedy of 

ideas and other forms ………….  comedy is that 

it does not depend on a situation for its humour. 

A) about / in 
B) through / for 
C) between / of 
D) over / from 
E) with / at 

17) 
From a very early age it is clear that some people are …………. better at drawing and painting…………. the majority of us. 

A) much / than 
B) more / than 


C) so / as 
D) either / or 
E) even / such as 

18) 
Many ordinary people don't realize that fat is not digested in the stomach, …………. in the small intestine. 

A) although 
B) but 
C) because 
D) unless 
E) while 

19) 
He adores his little granddaughter so he'll do 


…………. she wants him to do. 
A) all of them 
B) however 
C) whatever 
D) most of all 
E) the same 

20) 
His Collected Essays continues to reveal 


…………. George Orwell understood the basic 

conflicts of the modern world. 

A) just as 
B) so well 
C) if ever 
D) how well 
E) even so 


21) 
The name ''Kızılırmak'' emphasizes the colour of 

this river, …………. the earlier name ''Halys'' 

stresses its saltiness. 

A) whereas 
B) therefore 
C) whereby 
D) moreover 
E) indeed 


22) 
The film Casablanca, the story …………. is set 

in Morocco during World War II, stars Humphrey 

Bogart and Ingrid Bergman. 

A) whose 
B) of which 
C) by whom 
D) whichever 
E) what 

23. -27. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
When summer brings very hot weather, many people suffer (23) ……….  they need to. There are  (24) ………. ways to make life more comfortable in the heat. First of all, you can try to keep your home as cool, as possible. It is best to close all the windows and curtains during the hottest part of the day. (25) ………….  , when it is cooler in the evening, you can open them up again. It is important also to keep yourself cool by wearing loose, light clothes. Cotton is the best material for clothes in hot weather. And finally, you (26) ………. try to stay calm and relaxed. You could even try a nap after lunch, like many people (27) ………. live in hot climates. This way you are more rested and ready to  enjoy the cool evening hours.
23-


A)
more than
B)
as much as


C)
as many as
D)
as well as


E)
as far as

24-



A)
the number of
B)
a number of


C)
a lot
D)
a plenty


E)
a great amount of

25-


A)
So
B)
Then


C)
For example
D)
Even


E)
After all 

26-


A)
must try
B)
have to try


C)
should try
D)
may try


E)
are to try

27-


A)
whom
B)
whose


C)
which
D)
that



E)
who

28. -32. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
Scientists believe that the earth’s climate may be warming up. This trend probably began thousands of years ago. Many areas of the earth (28) ……….  covered with ice that    has now melted. (29) ………., in recent years, the warming trend has speeded up. Scientists think that pact of the reason for this may be carbon dioxide pollution from industry and automobiles. The carbon dioxide (30) ………. with other gases. This pollution covers the earth like a blanket and keeps it warmer. (31) ……….  reason for the warming may be the fact that the earth is losing its forests. Forests are an important part of the earth's system for using up carbon dioxide and (32) ……….  the air temperature cool.

28-


A)
used to be
B)
used to being


C)
is used to be
D)
get used to be


E)
were used to being

29-


A)
Although
B)
However



C)
Though
D)
On one hand


E)
Finally

30-



A)
confuses
B)
contains



C)
mixes
D)
combines


E)
misunderstands

31-


A)
Another
B)
Other


C)
Others
D)
Each other


E)
The other

32-


A)
keep
B)
to keep


C)
being kept
D)
to have kept


E)
keeping

33 – 42. sorularda, yarım bırakılan cümleyi uygun şekilde tamamlayan ifadeyi bulunuz.

33) 
Campaigns to promote energy conservation have been around since the 1980s ………….
A) 
so that there is still a long way to go before campaigners are satisfied

B) 
because it is a problem that until now has been largely overlooked

C) 
but it is only with the advent of global warming that the issue has really gained momentum

D) 
just as the next step requires a great deal of detailed planning

E) 
even though most industrialized countries have been strongly in favour of these campaigns

34) 
Some comets have such long orbits ………….
A) 
while some asteroids may be burnt-up comets
B) 
in case they come from a region outside the 


Solar System


C) 
since they are often visible from the Earth
D) 
that they pass near the Earth only once every 



million years
E) 
just as their dust tails stretch up to 10 million 



kilometres across the sky


35) 
Water softeners are particularly useful ………
A) 
if you live in a hard-water area 
B) 
that they remove chemicals and improve the 


taste 
C) 
why London water is so hard 
D) 
since the water contained a greater 


concentration of calcium 
E) 
though electrical appliances require soft water


36) 
The personnel officer is looking for someone ….

A) 
that they are willing to do a great deal of 


travelling
B) 
who has a real talent for organization
C) 
until he finds someone who really is suitable
D) 
since at present several positions are available
E) 
whether they have the right qualifications


37) 
This is actually a camera ………….
A) 
though it is roughly the same size as a credit card

B) 
if only I could afford to buy it

C) 
that unfortunately it doesn't have a zoom

D) 
since the shape was hardly recognizable

E) 
as we have been wondering about which one to buy


38) 
By the time Turner was thirteen, ………….

A) 
his father, to whom he was deeply attached, 

was a barber in London
B) 
his mother was a woman of violent temper who 

eventually went mad
C) 
it was already agreed that he should become an 

artist
D) 
he was never an artist who relied on his genius
E) 
he has been called ''the father of impressionism''

39) 
When the four-thousand-year-old tomb was finally opened, ………….
A) 
the archaeologists had looked down into it in 

disbelief
B) 
there seems to be nothing in it of any interest at 

all
C) 
they have all looked at each other in 

amazement
D) 
the most exciting find was a set of surgical 

instruments
E) 
it would be a moment of unbearable suspense


40)
…………. which was characterized by supreme 

self- confidence and great achievement.


A) 
The bombing of Dresden was widely criticized
B) 
Henry VIII was a typical Renaissance figure
C) 
The Great Pyramids were built in an age
D) 
The moon-landing gave rise to strange, new 

emotions
E) 
This climbing expedition in the Taurus 

mountains was a complete failure

41) 
…………. because she has the ability to make 

her audience find wildlife as fascinating as she 

does herself.

A) 
Such a development for the conservation of 

wildlife had not been expected
B) 
The television offers a wide variety of career 

opportunities for people interested in wildlife
C) 
The children didn't know what to expect
D) 
No one else could have presented the 

programme
E) 
A young television presenter of wildlife is rapidly 
becoming famous


42) 
As the salaries are related to achievements,…….

A) 
few people were interested in working here
B) 
research at this institute is highly competitive
C) 
all the applicants would have been confident 

and ambitious
D) 
no one will have foreseen such a problem
E) 
standards continued to be impressively high

43. — 46. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

43) 
''I'm not sure; Sheila's, probably.''

A) 
Who did you go to the exhibition with?
B)
Whose paintings attracted most attention at the 


exhibition?
C) 
Have you seen her lately?
D) 
Why were the paintings exhibited?
E) 
There is an amazing variety of paintings on 


show, isn't there?


44)
 ''Yes, there are. Look on your desk.''

A) 
Where are the books you promised to bring?
B) 
Are those flowers for me?
C) 
There aren't any letters for me, are there?
D) 
Are any of the reports you are writing ready?
E) 
Are my glasses over there?


45) 
''There's one every half hour on weekdays''

A) 
Do any of these buses go through the centre of the town?

B) 
Do you often go by bus?

C) 
Are the children old enough to go on their own by bus?

D) 
When does the next bus leave, do you know?


E) 
How often is there a bus into town?

46)
 ''Yes, in the secretary's office.''


A) 
Where were you at the time?
B) 
Did you manage to find out where the meeting is 


to be held?
C) 
Can he still not remember what he did with 



those files?
D) 
Are the papers I passed on to him still missing?
E) 
Why did he go into the secretary's office?

47-50. sorularda, verilen İngilizce cümlenin Türkçe 

dengini bulunuz.

47-
For most people today, cartoons have come to be an indispensable part of daily life.

A)
Günümüzde karikatürler pek çok insan için günlük yaşamın vazgeçilmez birer parçası halini almıştır.

B)
Pek çok günümüz insanı için karikatürler günlük yaşamda mutlaka olması gereken şeylerdir.

C)
Bugün pek çok insanın günlük yaşamında karikatürlerin çok önemli bir yeri vardır.

D)
Günümüz insanının günlük yaşamından kesitleri en iyi anlatan kesinlikle karikatürlerdir.

E)
Bugün karikatürler, insanların günlük yaşamlarından pek çok kesiti basarıyla yansıtmaktadır.

48-
Our undertaking did not result in success, but nor was the outcome a complete failure.

A)
Çabalarımızın sonunda geldiğimiz nokta ne başarılı ne de başarısız olarak tanımlanabilir.

B)
Ne yazık ki girişimlerimizin, sonucu başarı değil tam bir başarısızlık oldu.

C)
Bu kadar çabanın sonunda geldiğimiz nokta tam bir başarısızlıktı.

D)
Sonunda başarısız olduk fakat bence, girişimde bulunmamız bile bir başarıydı.

E)
Girişimimiz başarıyla sonuçlanmadı ama sonuç tam bir başarısızlık değildi.

49-
Although significant advances have been made in transplanting organs, the problem of the body’s rejection of the organs has not been completely solved.

A)
Çok büyük gelişmelerin kaydedildiği organ naklinde şimdi asıl konu, vücudun nakledilen organı reddetmesi sorununu çözmektir.

B)
Organ naklinde önemli gelişmeler kaydedilmiş olmasına rağmen, organların vücut tarafından reddedilmesi sorunu henüz tam olarak çözülememiştir.

C)
Bir organ nakil operasyonu çok başarılı bile geçse, vücudun nakledilen organı reddedebileceği olasılığı her zaman mevcuttur.

D)
Organ naklinde çok büyük başarılar elde edilmiştir, ama vücudun bu organları reddetme olasılığı tam olarak ortadan kaldırılamamıştır.

E)
Vücudun nakledilen organları reddetmesi gibi sorunlar hala geçerli olsa da, organ naklinde kaydedilen ilerlemeler çok önemlidir.

50-
The full influence of mechanisation on agriculture began in the 1850s, when a variety of machines came rapidly into use.

A)
1850'lerde başlayan tarım alanında makineleşme, o yıllarda hızla kullanıma giren makineler sayesinde olmuştur.

B)
Tarım makineleri özellikle 1850’lerde tam etkisini göstermiş, makineleşmeyle birlikte hızlı üretim başlamıştır.

C)
1850'lerde gerçekleşen makineleşme, tarımı da tam anlamıyla etkilemiş, üretimi hızlandırmıştır.

D)
Makineleşmenin tarım üzerinde tam etkisi, çeşitli makinelerin tam hızla üretime girdiği 1850’lerde başlamıştır.
E)
1850'lerde, hızla yeni makinelerin kullanılmaya başlanmasıyla birlikte, tarımda makineleşme tam olarak hissedilmiştir.

51-54. sorularda, verilen Türkçe cümlenin İngilizce 

dengini bulunuz.

51-
Beklenilenin aksine, son alınan kararlar hükümete önemli ölçüde oy kaybettirdi.

A)
Though they had expected the opposite, the government’s important decisions have recently cost it a loss of votes.

B)
The government already expected to lose a significant number of votes because of their recent controversial decisions.

C)
Though they expected to lose many votes, the government has made some important decisions in recent times.

D)
Although unexpected, the recent elections greatly influenced the government's decisions, as they lost a lot of votes.

E)
Contrary to what was expected, the recently-made decisions have lost the government a significant amount of votes.

52-
En çok korktuğu dersin sınav tarihi yaklaştıkça, Susan daha da gerginleşti.

A)
Susan greatly feared test days, and those of certain subjects more than others.


B)
Susan was very nervous about the exam day and grew even more fearful as it got closer.

C)
As the date of the most fearful exam approached. Susan became more frightened of the course.

D)
Susan grew more and more nervous as the exam date of the subject she feared most drew nearer.

E)
When the exam date got nearer, Susan's most feared course began to look more and more frightening.

53-
Kendi istekleriyle olmasa da zenci köleler, Amerika'nın ekonomik temellerinin atılmasında önemli bir rol oynamışlardır.

A)
The foundation of the American economy was a role played largely by black slaves, though against their desires.

B)
Although not according to their will, it was the black slaves who laid the foundations of the American economy.

C)
Though not through their own will, black slaves played a major role in laying the economic foundations of America.

D)
They didn't actually desire to do so, but many of the black slaves played important roles in laying the foundation of America's economy.

E)
The most important role in the laying of the foundations of the American economy was played by black slaves, despite their reluctance.

54-
Üçüncü derece bir yanık, yaşamı tehdit edebileceği için acil tıbbı müdahale gerektirir.

A)
Proper medical treatment is required to stop third-degree burns from being life-threatening.

B)
Since a third-degree burn can be life-threatening, it requires immediate medical treatment.

C)
The lives of victims of third-degree burns can only be saved by emergency treatment.

D)
Immediate medical treatment can save those with life-threatening third-degree burns.

E)
Third degree burns, which can be life-threatening, should be handled with proper medical care.

55-57.  soruları verilen parçaya göre cevaplayınız.

If there's one thing we're good at, it's shopping. We love shopping in the States, and we have huge shopping malls which are designed for two aims to give us the greatest possible choice of things to buy, and to separate us from our money. But we like to be relaxed when we go shopping, so the staff are there to help us choose if we need it, but they don't usually bother us unless we're looking  confused. In fact in small stores, the price is always clearly marked on the product, and that's the price you pay. Sometimes, like at Christmas, the sales clerks will wrap our presents in special seasonal wrapping paper, but usually they just put things in a bag. And at supermarkets, cashiers don't wrap groceries up individually, they usually put them all in large, brown paper bags, strong enough to take a lot of groceries. The staff are always friendly and make small talk  about the weather and things like that, and then as we leave, they usually say goodbye and "Have a nice day!"

55.
According to the passage the aim of shopping is……………


A) 
to make people get relaxed


B) 
to let people save their money


C) 
to force people to buy something cheap.


D) 
to let people choose the best for them from different alternatives


E) 
to put different alternatives to people so that they get confused and buy all of them.

56.
According to the passage, the prices ……………


A) 
are same in all shopping centres.


B) 
are not written on etiquette.


C) 
can be cheaper in small markets


D) 
are marked on the labels that cannot be changed.


E) 
are marked on the labels but you pay the half of it at Christmas

57.
The writer claims that …………… 


A) 
cashiers generally wrap the groceries.


B) 
supermarkets generally have small bags 


C) 
at Christmas the presents are wrapped


D) 
the staff generally deals with clothes and things that are sold


E) 
the staff is generally regarded as polite and considerate.

58-60.  soruları verilen parçaya göre cevaplayınız.

You may be prepared for lost luggage, flight delays, or an unfinished swimming pool, but what about the common ailments that can ruin your vacation? Travel sickness, diarrhoea, sunburn, heat exhaustion, mosquito bites ... for many of us, these are what vacation memories are made of. Vacation health  problems are common and the more exotic the destination, the more unusual  you can expect the health risks to be. Did you know that about 40 percent of people travelling abroad  each year fall ill as a result of their vacation? For most, it's a fairly minor ailment such as sickness or diarrhoea—and although that's distressing enough, several thousand others contract malaria and other potentially fatal diseases, such as typhoid or hepatitis. However, a little thought and preparation before you leave home can minimize or even prevent  many typical vacation health problems. If you take common-sense precautions and ask your local pharmacist for advice and effective remedies you can look forward to a happy—and healthy—holiday this year.

58.
In the passage it is stated that one of the things that ruin vocation from the point of illness is …………….


A) 
lost of luggage


B) 
cancer


C) 
hypertension


D) 
bites of insects


E) 
cold

59.
In the passage it has shown that ……………


A) 
people like to travel abroad.


B) 
40% of people like to travel to small places.


C) 
most people prefer to stay in their own country.


D) 
40% of visitors die of illness


E) 
Two fifth of the people travelling abroad come back home with an ailment.

60.
The writer states that for precaution one should ……………


A) 
not visit unhealthy places


B) 
take some medicine with themselves


C) 
go to a doctor in the place they visit


D) 
after coming back from holiday stay a week at a hospital


E) 
spend money on healthy and nutritious food.

61-63.  soruları verilen parçaya göre cevaplayınız.

I will never forget the vacation I spent with my family in Massachusetts about six years ago. It was the worst vacation I have ever had. My parents decided to rent a house on Martha’s Vineyard and we were all looking forward to three weeks of fun in the sun. Unfortunately, everything went wrong and we were glad to get back home. We had recently bought a new car, with a roof rack, so we tied the suitcases on with string and set off to New Bedford. On the highway, a suitcase fell off the roof and hit a passing motorbike. By the time we had called a garage and we had taken the shaken motorcyclist home, we found that we had missed our boat. On the second day of our vacation, we went to the beach and my sister was bitten by an insect and her leg became swollen. Back at the house, she was stung by a bee on the same leg and we had to call a doctor. The next day, my younger brother fell over and broke his ankle and he had to be rushed to the hospital.  On the last night of our stay, the car was broken into and the presents we had bought for friends at home were stolen. Fortunately, the camera was not in the car, so the vacation photos of all our disasters were saved.

61.
The writer states that they rent a house …………


A) 
to rent it to another family.


B) 
to put their clothes in while they go to sun bathing


C) 
to have a three-weeks holiday


D) 
to camp in the middle of the forest 


E) 
to change and later on to buy it.

62.
The passage states that the reason why they missed the boat is that ……………


A) 
they forgot to take their suitcases and had to return back home


B) 
his sister was bitten by an insect


C) 
his younger brother broke his hand


D) 
the falling suitcase hit the motor cyclist


E) 
they forgot the camera in the car.

63. 
In the passage the writer is happy about that ……………


A)
they could save the motor cyclist


B) 
they went to the beach although his sister was bitten by an insect


C)
they couldn’t take photos since they forgot to take the camera with them


D) 
they could take his brother to hospital


E) 
they could save the photos from the robbers.

64-66.  soruları verilen parçaya göre cevaplayınız.

Regular exercise such as jogging or swimming is good for the heart. It can also give you more energy to enjoy life. As a result  of regular exercise, your body gets better at using oxygen. It becomes easier for your heart to pump blood around your body. After a while, the heart doesn’t have to work quite as hard. Exercise is often thought to be an easy way of los​ing weight. But in fact, exercise tends to increase your appetite. Many people discover they lose little weight with exercise alone. Both diet and exercise are needed to achieve this. Some people exercise because they think it will help them to live longer. If that is your reason for exercising, then you should avoid short, intensive exercise. Squash, for example, which is a fast game, may be harmful if you’re unfit or middle-aged. Other sports can be dangerous, too. Although both rugby and football are popular sports, a rugby player is three times more likely to be injured than a tennis player. It is advisable, therefore, to choose a sport that suits you and not one that is going to harm you.

64-
The writer states  in the passage that ……………


A)
the exercise you do regularly helps you live healthily.


B)
while jogging or swimming a person spends too much energy.


C)
the more regular exercise you do, the harder your heart works.


D)
faster exercises or sports are advisable for all ages.


E)
if you do the exercises in the mornings, it will help you get fresh air.

65-
One can understand from the passage that ……

A)
squash can be played alone.


B)
squash should be advised to younger people.


C)
all kinds of sports are advisable to choose at any age.


D)
in-door sports are more enjoyable than out-door ones.


E)
intensive and short exercises may be harmful or sometimes dangerous to unfit or middle-aged people.

66-
One can conclude from the passage that  ………


A)
short and intensive exercises help people live longer


B)
many people exercise to lose weight and achieve it.


C)
exercise doesn’t help people lose weight unless it is supported by diet.


D)
you’re advised to exercise in the same period everyday. 


E)
regular exercises help you lose weight, especially at middle ages.

67-69.  soruları verilen parçaya göre cevaplayınız.

One third of Western Europe is covered by trees. This sounds impressive   but most of these trees were planted recently and are no replacement for the ancient natural forests. Europe’s ancient woods are suitable habitats for a large number of endangered species. Fast-growing modern forests, however, are dark and uninviting to birds and animals. The Worldwide Fund for Nature recently held a seminar to increase publicity for a new campaign called “Forests for Life”. The organisation wants to introduce bans on trade in products made from wood from these forests. By the year 2010 they hope to have built up a network to provide protection for existing areas and help restore damaged forests.

67-
It’s stated in the passage that ……………


A) 
more that 30 % of the Western Europe is covered by forests.


B)
people plant fast growing trees to make a suitable habitat for endangered species.


C)
fast growing trees are preferable, especially in hot countries.


D)
a forest invites the birds and animals to the natural life.


E)
deforestation is the main reason for extinction of  species.

68-
It is stated in the passage that  worldwide Fund 

for  Nature ……………


A)
is a campaign against deforestation.


B)
arrange seminars and campaigns to attract the people’s attention to the matter.


C)
bans cutting trees in the forests.


D)
is supported by the governments in the EU countries.


E)
gathers money from people to plant trees in the forestless areas.

69-
The author states that the Worldwide Fund for 

Nature will arrange a campaign called “Forest 

for Life”  ………


A)
to plant trees in the damages forests.


B)
to protect forests against forest fires and trade of products made from wood.


C)
because they want the trade in products made from natural forests be prohibited.


D)
so as to make habitats for the birds and animals in the forests.


E)
in order to plant fast growing trees in the modern forests.

70-72.  soruları verilen parçaya göre cevaplayınız.

There are roughly 140 countries which belong to the Third World and which are known as developing, less developed and poor countries. Although there are great differences between them, they do have a num​ber of features in common. For instance, much of the Third World is in poverty. A few exceptions to this rule are Saudi Arabia, Kuwait and Libya. However, because the economies of these three countries depend largely on one export, oil, they are still vulnerable in the world market. Most of the developing countries still have very little industry. Farming is often the only way in which the country can make money. Even worse, many of the countries only produce enough food to keep their own populations alive. India is a classic example of this, as no less than 70 percent of its 970 million people work the land for a living. Another feature which links less developed countries is life expectancy. People die younger in the Third World because of the poverty in which they live. The poor have much less healthy diets than in developed countries, and health care is also more likely to be inadequate.

70-
According to the passage, the Third World countries are categorised as ……………


A)
developing, less developed and poor countries.


B)
produce more of the oil in the world.


C)
consume more than they produce.


D)
sell more raw materials and they buy machines.


E)
are all in poverty and get aid from WHO.

71-
One can understand from the passage that Saudi Arabia, Kuwait and Libya ……………


A)
are democratic countries.


B)
depend largely on oil economically.


C)
are classified among the developed countries.


D)
are the richest countries of the Arab World.


E)
are ruled by Islamic laws.

72-
 According to the passage, the special feature of the less developed countries  is that ……………


A)
the poor have as healthy diets as in developing countries


B)
developed countries help them more than the other countries.


C)
life expectancy is very short.


D)
many of them produce enough only for their own people.


E)
they are developed only in farming.

73-75.  soruları verilen parçaya göre cevaplayınız.

For thousands of years the moon has caught our imagination. Although it can be seen during the day, it is associated with things that come out after dark like werewolves and witches. For thousands of years the moon has been considered to have magical powers and it is still a symbol of the supernatural. Despite moon-landings in the second   half of this century, the idea that the moon affects our minds and bodies remains popular.  American studies have reported more murders at full moon, more bleed​ing during surgery, a greater number of accidents and suicides, and more disturbed behaviour in psychiatric hospitals. This apparent lunar influence has been called the “Transylvania effect”. In fact there are at least two theories put forward by scientists claiming to explain this effect. However, Ivan Kelly of the University of Saskatchewan and James Rotton of Florida International University found that the “Transylvania effect” did not actually exist at all. Furthermore, they refused the “Transylvania effect” theories, saying they were scientifically incorrect, Kelly claims “moon moods” are probably caused by psychological factors. “If you believe the moon affects you, you alter your behaviour accordingly. There is no magic involved at all.”

73-
Ivan Kelly claims that ……………


A)
psychological factors cause moon moods which people believe  and change their behaviours accordingly


B)
Transylvania effect is the lunar influence.


C)
Transylvania effect is the magical influence on people’s behaviour.


D)
moon moods cause people commit suicides.


E)
people influenced by Transylvania effect commit crimes at full moon.

74-
The author states in the passage that the moon …………


A)
is still unclear although it was landed there.


B)
has been thought to have magical powers and a symbol of the supernatural.


C)
can be seen during the day especially in summer.


D)
is related to werewolves and witches, because they are considered bad and negative in the society.


E)
and the sun are always considered to have caught our imagination.

75-
According to the passage Transylvanian effect ……


A)
is reported to cause murders, more bleeding operations, a lot of accidents and suicides at full moon.


B)
is a solar influence on people.


C)
is supported by the scientists.


D)
has been seen after moon landing.


E)
has a magical power on people.

76-80. sorularda, verilen cümleye anlamca en yakın seçeneği bulunuz.

76-
Nobody I know makes better pasta than Tony's mother.

A)
I believe that the best pasta in the world is made by Tony's mum.

B)
Of all the people I know, Tony's mother cooks the best pasta.

C)
None of the people I know can fail to appreciate the pasta cooked by Tony's mother.

D)
I know that Tony's mother can cook really delicious pasta.

E)
I don't think there can be anyone who makes pasta better than Tony's mother.

77- 
Fatih began to study harder once he'd learned how important English would be to his future.
A)  
Fatih studies English diligently because he knows how important it will be to him in the future.
B)  
If Fatih had studied English harder, he would have a better future ahead of him.
C) 
The moment Fatih learned the value of English for his future, he became more conscientious in his studies.

D) 
Luckily, Fatih realises the importance of English to his future well-being.
E)  
Fatih did not realise how vital English would be for his future until he began studying the language.
78-   
The first time I visited New York, I was only ten years old.

A) 
I haven’t visited New York for ten years.

B) 
I have wanted to visit New York since I was ten years old,

C) 
I haven't visited New York since my first visit at the age of ten.

D) 
This is the first time I have visited New York in ten years.

E) 
At the age of ten I made my first trip to New York. .

79-  
Land clearance for farming has meant that only the cooler north still retains any significant areas of natural forest in Europe.

A) 
In the north of Europe, where it is not so hot, most of the forests have been cut down to make way for farms, leaving few areas of natural forest.

B) 
Whereas the forests of Europe were once threatened by the growth of farming in  the cooler northern regions, forests continue to become even larger.

C) 
Due to the sparse population of the colder regions of northern Europe, the resulting lower demand for food has allowed more land to remain forested.

D) 
Farming, being more important than forestry, has taken over most of the formerly forested areas all over Europe.

E) 
While farming has taken over most of the former natural forests in Europe, considerably large forested regions remain in the cooler northern regions.

80-  
The Loch Ness Monster is such a rare sight that, until recently, it was thought to be a product of the imagination.

A) 
The Loch Ness Monster is probably only imaginary because there are so few people who have claimed to have sighted it.                             

B) 
The Loch Ness Monster, which was sighted once again only recently, is, believe it  or not, real.                                              

C) 
Because it seldom appears, until recent times, people used to think that the Loch Ness Monster was no more than a fantasy.

D) 
So many people have seen the Loch Ness Monster in recent years that it is no longer thought to be imaginary.

E) 
Recently some people have come to believe that the Loch Ness Monster is merely a fantasy because it is no longer seen by any people.

81 -85. sorularda, parçada bırakılan boşluğu uygun şekilde tamamlayan ifadeyi bulunuz.

81-
…………. . By translating the results of scientific experiments into mathematical terms, it is possible to develop assumptions and formulae for general application. Further experimentation is often suggested in this process. In this way, mathematics clarifies and furthers knowledge of the physical world.

A)
The introduction of the decimal system into Europe greatly advanced the field of mathematics

B)
Mathematics has become an essential tool in all sciences for the development of theory

C)
Mathematics is the study of numbers and their logical relationships with each other

D)
Though interesting in its own right, mathematics has few uses outside the realm of accounting

E)
Arithmetic is the most ancient form of mathematics, and was known to the Egyptians

82-
…………. . History has been made at conferences; chance remarks have begun lifelong friendships; and from conversation has come inspiration for great achievements. Conversation is the means by which people draw near to one another with sympathy and pleasure; it is the basis of social activities. Those skilled at conversation have always had an advantage in life.
A)
The contribution of bodily gestures to the total meaning of a conversation is in part
culturally determined
B)
Modern historians aim to reconstruct a record of human activities and to achieve a
better understanding of them
C)
Talking has long been a chief occupation of human beings and one of their most
significant activities
D)
In political conversations, concepts such as right and liberty are used abundantly
E)
Diplomacy is the established method of international conversation

83-
…………. . This same urge prompts youngsters to climb trees and draws tourists to lookouts, observation points, and the tops of skyscrapers. This urge to get up above the crowd has led mountain climbers to develop the skills and tools that made it possible on May 29, 1953, for New Zealander Edmund Hillary and the Sherpa mountaineer Tensing Norkay to reach the world's highest point, the summit of Mount Everest, 8,846 metres above sea level.
A)
Many scientists emphasise the effects of repressed desires on human psychology
B)
The data concerning the psychological development of youngsters should be
gathered from a variety of sources
C)
Heights of surface features above sea level in a given area are determined in many
ways
D)
The desire to stand on a high point and have an unobstructed view of the
surrounding area seems to be a basic drive for many
E)
Since the achievement of Hillary and Tensing, countless mountaineers have
attempted to reach the summit of Mount Everest

84-
The battle of Waterloo was fought in 1815 in Belgium. …………. . After the laying of cables across the English Channel in 1851 and across the Atlantic Ocean in 1866, the time interval in the communicating of news was greatly reduced. Today news from around the globe is carried almost instantly by satellite transmission and we can watch even alive images from a place hundreds of kilometres away.

A)
However, cables made of optical fibres first came into operation much later
B)
Napoleon was finally defeated after 23 years of recurrent warfare between France
and the other powers of Europe
C)
Since then, the English Channel has been one of the busiest waterways for tankers
D)
Technological ingenuity of the 19th  and 20th  centuries brought about newer means
of mass communication
E)
It took four days for the news to reach London, only 386 kilometres away, by a
horseman
85-
The colour of granite depends on the proportions and varieties of the minerals in
it. The principal constituent mineral of granite is feldspar. The predominant colour is, thus, grey. …………. .
And it gets lighter as its percentage lessens. 
Greenish, pink and blue colours are due to different kinds of minerals such as plagioclase, muscovite, biotite, amphibole or pyroxene.
A)
It is dark grey if this mineral is plentiful

B)
Granite is the most common igneous rock in the Earth's crust
C)
Because of its great hardness, it is difficult to work
D)
Granite commonly occurs in mountain ranges
E)
A mineral displays considerable variation in the ions within their structure
86-90. sorularda verilen durumda söylenebilecek sözü bulunuz.

86-
You're trying to find a birthday present for one of your colleagues and aren't having any luck. Finally, you come across a clothes shop that is full of things you're sure she would like, but you aren't sure of her size or exactly what to get her. You decide it would be better if you could pay now, but she could come in by herself to choose, so you ask the shop assistant:

A)
What do you think would be suitable for a woman of 40?

B)
Do you happen to sell gift certificates?

C)
Can I send my friend here to have an interview for the vacancy?

D)
Can I borrow this skirt to see if she likes it?

E)
What is the most popular gift for females?

87-
While walking to work one day, you see an old man slip on the pavement. You decide to do what you can to assist him, so you go up to him and say:

A)
Are you okay, Sir? Do you need any help?

B)
Aren't you a bit old to be out on your own?

C)
You must feel awkward. What happened to you?

D)
You really must be more careful. It's slippery.

E)
Come on I'll take you to the hospital by taxi.

88-   
You have to make a connection at an international airport, but your plane is running late. You know that there are a few more passengers on board who will catch the same plane. You are worried that you might not have time to make your connection, so, in order to make sure, you call the stewardess and ask politely:

A)  
Is there any way you could radio-ahead and inform the airline that the flight to Nairobi has quite a few passengers on this plane?

B)  
Excuse me, but are you sure we will be able to make our connecting flight to Moscow? 

C)  Can you please tell the pilot to hurry up? I don't want to miss my flight to Bangkok, and neither do any of the passengers in my situation.

D) 
What am I going to do? If I'm not in London by this evening, I could lose my job.

E) 
Don't you realise that I am a very important person, and  you will be in trouble if I miss my flight to Tel Aviv?

89-  
You buy an airline ticket from a travel agent, and you notice that your name has been spelled incorrectly. You point this out and are told that it will not matter. From past experience, however, you know that in some international airports officials will not allow you to check in if the names on your ticket and passport are not exactly the same. You therefore insist, saying:

A) 
I suppose it will be all right this time.

B) 
I'm not very satisfied with your service and am going to complain.

C) 
I've had problems with this before, so I really must ask you to change my ticket.

D) 
You can't have gone to a very good school if you can't even spell.

E) 
Are you sure you got the time of the flight correct? I thought it was later.

90-   
Soon after getting your driver's license, you are driving your father's car and you hit a telephone pole. The damage is not serious, but you are extremely embarrassed, and when you bring the car home, you admit that it was due to the lack of experience, so, implying this, you say:

A)  
I suppose it could have been a lot worse if I hadn't reacted so quickly.

B)  
I think I need a little more practice with my driving.

C) 
 I'm sorry, Dad. I promise I'll have the car repaired immediately.

D) 
It was about time we got a new car anyway. It's embarrassing driving such an old wreck.

E)  
If you had been with me, I'll bet you would have really yelled at me.

91-95. sorularda, karşılıklı konuşmanın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

91- 
Leonard:………………..      

Walter
: Yes, I phoned him from work last week.

Leonard: Really? I didn't know that he'd had a 


telephone installed. Can I have his 


number?

Walter
: Sure. It's 867-5309.

A)
Have you spoken to Arthur recently?

B)
Did anyone call while I was out?

C)
I heard Tony's nephew died in a car accident.

D)
Are you still not talking to Albert?

E)
I called Bob at home yesterday evening.

92- 
Olivia 
: Could you give me a lift to the station?

Sam 
: ……………………..       

Olivia
: 0h,  no problem then. Thanks a lot, 


anyway.

A)
When do you have to be there?

B)
Why don't you take the train?

C)
Sorry, but my wife's got the car.

D)
Where are you going? On holiday?

E)
Sure, but can you wait a few minutes?

93-  Simon
: Is there anything you want done    




  while I'm out? 


Heather
: The phone bill needs to be paid.

Simon
:      ...........

Heather
: Have you got enough money with you 




  for all of them?

A)  
Yes, and so do the electric and water bills, I think.
B)  
I'll do it tomorrow. It's getting rather late.
C)  
It will have to wait until after I get paid.
D)  
If it should, I'll do it straightaway then.
E)  
That's right, and I also have to call at the chemist's.
94- 
Bill

: Your car isn't running very well. Andrew
:   ........

Bill

: You could save money if you did it 




  yourself.

Andrew
: Not me — I've got no mechanical    




   ability at all.
A) 
I'll get petrol just up ahead.
B) 
That's strange. It was serviced just last week.
C) 
It's about time I got it painted.
D) 
I think it's time to get it serviced.
E) 
You're right, but I can't afford a new one.
95-
Babs
: Did you have fun at the beach last 




  week? 


Jocelyn
: It was all right until I got too much sun. Babs
:  .......

Jocelyn
: I know, but I forgot until it was too late.
A) 
Did you get all red and start to peel?
B) 
You must have sat in the shade part of the time.
C) 
You should have used sun cream.
D) 
You really look good with that nice tan.
E) 
Are you taking anything for it?
96-100. sorularda, anlam bakımından parçaya uygun olmayan cümleyi bulunuz.

96- 
(I) Fleas are a great nuisance for monkeys, and they are often seen patiently picking fleas out of one another's fur. (II) Fleas, which are intricate, adaptable and bloodsucking parasites, are known to be very hardy. (III) They can survive without food for months and leap 150 times their own length: the equivalent of a man jumping about 300 metres. (IV) They can even remain frozen for a year and then revive. (V) But there is a darker side of these long jumpers: as carriers of plague, fleas have claimed more victims than all the wars ever fought.
A) I          B) II          C) III          D) IV          E) V
97- 
(I) During the first century AD, the Roman Empire was approaching full expanse in Europe, (II) Around the same time, in America, the Moche people of Peru were evolving one of the most remarkable civilisations of the ancient world, (III) To sustain it, they harnessed rivers spilling from the Andes, channelling them into a network of irrigation canals. (IV) The Andes were the home of advanced Indian civilisations centuries before Europeans arrived. (V) Though these early Peruvians had no written language, they left a vivid artistic record of their life and culture in beautifully painted ceramics and exquisitely crafted objects of precious metals.
A) I          B) II          C) III          D) IV           El V
98- 
(I) The rainy climate and the island's rocky coastline have prevented the establishment of big-time tourism in Dominica, one of the poorest islands in the Caribbean, (II) Its 300 hotel rooms are never full, and no airport on the island can accommodate standard commercial jets. (Ill) Instead, agriculture forms the backbone of the economy. (IV) However, farming the mountain slopes is back-breaking, and not very profitable. (V) On the other hand, the developing market economy of the oval-shaped island of Martinique is largely based on tourism and export-oriented agriculture.
A) I          B) II          C) III          D) IV          E) V
99- 
(I) Japanese architecture derived largely from the older Chinese architecture. (II) Many ancient Chinese buildings are still forbidden to Westerners, (III) However, it developed on different lines and has a character of its own. (IV) Examples of the architecture that are more than 1000 years old still survive. (V) Until recently, buildings were built entirely of timber to withstand earthquakes, but the traditional construction has now been largely replaced by concrete structures.
A) I          B)II          C)HI          D)IV          E)V
100- (I) Many schools of psychotherapy use dream interpretation techniques to gain insight into individual problems. (II) Dreams are illusions or hallucinations of real experiences, but what type of reality they express is difficult to decipher, (III) Each school differs in its method of interpretation, though. (IV) For example, Freudian therapists might interpret a patient's dream of a round, pale globe as a symbol of the mother's breast. (V) The psychiatrist Alfred Adler, on the other hand, might interpret the globe as the Sun, which is superior to the Earth, and which reflects the patient's strivings for superiority.
A) I          B)II          C) III          D)IV          E)V
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